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General Instructions :
Read the following instructions carefully and follow them :
(1) This question paper contains 34 questions. All questions are
compulsory.
(it)  This question paper contains two sections, section A and B.
Section — A : Macro Economics
Section — B : Indian Economic Development
(iit) This paper contains 20 Multiple Choice Questions type questions of
1 mark each.
(tv)  This paper contains 4 Short Answer Questions type-1 questions of
3 marks each to be answered in 60 to 80 words.
(v) This paper contains 6 Short Answer Questions type-II questions of
4 marks each to be answered in 80 to 100 words.
(vi)  This paper contains 4 Long Answer type Questions of 6 marks each to
be answered in 100 to 150 words.
(vii) Attempt all parts of a question together.

Section — A
(Macro Economics)
1. Read the following statements carefully : 1
Statement 1 : The induced consumption shows, the direct relation
between consumption and income.
Statement 2 : With a certain increase in income, induced consumption
also increases.
In the light of the given statements, choose the correct alternative from
the following :
(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(¢) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

2. “In the Annual Budget 2022-23, the Government of India set up
disinvestment targets of ¥ 65,000 crore”.

Such proceeds from disinvestment can be classified as receipts in the
Government Budget as it leads to of the Government.

(Choose the correct alternative) 1
(a) capital, decrease in assets (b) revenue, increase in assets
(¢c) capital, increase in liabilities (d) revenue, decrease in liabilities

58/2/2 @ %E&I P.T.O.


https://www.collegebatch.com/exams?utm_source=pdf

@ collegebatch.con
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TR o TR H THE & oft | 3= et b —
“ THT H5T Tl o M1 WY 1 9T EId &, T AT ool R AN WA B & 17
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ICET
() ¥ (@) (b) W (ii)
(0 @F3G) (d) @), (i) = (iii)
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3. Read the following statements — Assertion (A) and Reason (R). Choose one
of the correct alternatives given below : 1
Assertion (A) : The Balance of Payments is in surplus, if autonomous
receipts are greater than autonomous payments.

Reason (R) : Autonomous transactions are determined by the difference
in the Balance of Payments.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(¢) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

4. As per the Reserve Bank of India (RBI) press report, dated 22nd June,
2022 : 1
“Net Foreign Portfolio Investment (FPI) recorded an outflow of US$15.2
billion mainly from the equity market.”

The above transaction will be recorded in the _ account on side
of Balance of payments account of India. (Choose the correct alternative)
(a) current, credit (b) current, debit
(¢c) capital, credit (d) capital, debit

5.  Ms. Iqra Ansari, a teacher, was explaining in her class about various
types of deposits with the commercial banks. She quoted that —
“These deposits form a part of M1 measure of money supply and are
payable on demand by the commercial banks.”
Identify the type of deposits she was explaining about and choose the
correct alternative : 1
(1) Demand Deposits
(11) Time Deposits
(111) Post Office Deposits

Alternatives :
(@) Only (@) (b) Only (i)
(¢) (1) and (11) (d) (), (11) and (@111)
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Read the following statements — Assertion (A) and Reason (R).
Choose one of the correct alternatives given below : 1
Assertion (A) : At the break-even level of income, the value of
Average Propensity to Consume (APC) is zero.
Reason (R) : Sum of Average Propensity to Consume (APC) and
Average Propensity to Save (APS) is always equal to one.
Alternatives :
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).
(¢) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
OR
_ refers to that level of Aggregate Demand, which can be met by
the corresponding supply in the economy. 1
(Fill up the blank with correct alternative)
(a) Autonomous Consumption (b) Effective Demand
(¢) Excess Demand (d) Deficient Demand

Read the following statements carefully :
Statement 1 : Gross Domestic Product (GDP) is the sum total of the
gross market value of all the final goods and services added by
all the sectors in the economy during a fiscal year. 1
Statement 2 : Gross Value Added at Market Price (GVAy;p) is equal

to the excess of value of output over intermediate consumption.
In the light of the given statements, choose the correct alternative
from the following :
(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(¢) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

OR

1> %E% P.T.O.
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B) i fevmu fomr & AR W B o D g g0 T TaT8 & YhR i T8= i :
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(a) dTEdf JaTE (b) s yaETE
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(B) On the basis of the figure given below, identify the type of flow
indicated by Band D :

(Choose the correct alternative) 1

Spending

Households

Factor Payments

Factor Services

D
Alternatives :
(a) Real flow (b) Money flow
(¢) Nominal flow (d) National flow
8.  Assuming that, the following data is given for an imaginary economy : 1
Year | 2020 R in Cr.) | 2021 R in Cr.)
Items
Exports of visbles 1,000 1,100
Imports of visibles 800 850
The balance of Trade from 2020 to 2021 by % crore.
(Choose the correct alternative)
(a) 1increased, 200 (b) decreased, 200
(¢) increased, 50 (d) decreased, 50
9. (A) In the Indian economy, are issued by the Reserve Bank of
India and acts as legal tender money. 1

(1) Coins of all denomination
(i) Currency notes of various denominations, except one rupee note
(111) Demand deposits

Alternatives :
(@) Only () (b)  Only (1)
(¢) Only (ii1) (d) @) and (ii)
OR
B) formulates the Monetary Policy in the economy.
(Fill up the blank with correct alternative) 1
(a) Commercial Banks (b) International Monetary Fund
(¢) Central Bank (d) Central Government

58/2/2 @ %E&I P.T.O.
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In order to tackle the problem of rising general price level in an economy,
government may come up with a surplus budget to achieve the budget
objective of ___ . 1
(1) reallocation of resources

(11) price stability

(111) redistribution of income

Alternatives :
(@ (@) only (b) (i) only
(¢) (1) only (d) @) and (111)
On the basis of the data given below for an imaginary economy, estimate
the Net Domestic Product at Factor Cost (NDPy) : 3
Amount
S. No. Items
R in crore)
1) Household Consumption Expenditure 3,000
(11) Government Final Consumption Expenditure 1,000
(111) Net Domestic Fixed Capital Formation 1,000
@iv) Change in Stock 200
) Exports 500
(v1) Indirect Taxes 350
(vi1) Imports 300
(vii1) Subsidies 50

(a) “Under the flexible exchange rate system, the Central Bank does not
intervene in the foreign exchange market.”
Justify the statement, giving valid arguments. 3
OR
(b) Explain the impact of home currency depreciation on the exports of a

nation. 3

58/2/2 @ %E&I P.T.O.
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(i) e F ‘G Fere w1 e ford | 2
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13. (a) “In an economy ex-ante Aggregate Demand is less than ex-ante
Aggregate Supply.”
Explain its impact on the level of output, income and employment. 4
OR
(b) For a hypothetical economy, assuming there is an increase in the
Marginal Propensity to Consume (MPC) from 80% to 90% and
change in investment to be ¥ 1000 crore. 4
Using the concept of investment multiplier, calculate the increase in

income due to change in Marginal Propensity to Consume.

14. With suitable examples, distinguish between Direct taxes and Indirect

taxes. 4

15. “The process of credit creation by commercial banks comes to an end when
the total of required reserves become equal to the initial deposits.”
With the help of a numerical example, prove that the given statement is

true. 4

16. (a) () “Many goods and services which may contribute to welfare, but

are not included in estimating Gross Domestic Product (GDP).”

Do you agree with the given statement ? Give valid reason in
support of your answer. 3

(11) With suitable examples, distinguish between final goods and
intermediate goods. 3

OR
(b) (1) Using a suitable numerical example, distinguish between Real
Gross Domestic Product (GDP) and Nominal Gross Domestic
Product (GDP).

(i) State the meaning of ‘normal resident’ of a country. 2

58/2/2 @ %E&I P.T.O.
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17.  frfafad mar &1 eareh STEaE Y | 386k qT FHTI T o STTER 9w e st w1
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30 Fdst 2022 1 R RoTel sfeh = TR =iieft SR & H g sl 7 | wifge =fifd aff
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TS % ITd, W1 & 5.9% T T T 2, e Fed Wi aX 3.35% o THH &R | @
=

T ST STETT < BT ATVTIS S hriid b § K9 oid & | {01 X H Ifg &
HIOT AT ST R R0 AT &1 &1 ST | Q8T 39Ty & ifeh, W8 & RBI W1 &
TGIAT 8, Sohl o 7T Shed 1T ek T TR ITTT K0T AT H&TTT &1 ST @ |

IRUTTHEEY, T @ H ghg i 9T & g o 36 /0 R 4§ gig Hd & e W
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@ H 0.50% i ghg T IR & a1l o foTq K01 3= U T IeTed 2 |

3aehT 319 g, fob adum =m0 gobM & fow § 99 arefl EMI (Equated Monthly
Instalments) # ‘{%’,\ B St |

Source : https://www.businessstandard.com/article/economicpolicy/rbi-monetary-policy-

repo-rate-up-by-50bps-here-s-how-it-will-impact-you-122093000267 (Edited)

(a) e g T et s 31 1 Ieo@ | 2

(b) T ThIf Al €T T B H & fore, Yt ftd s 1 Hifges Hifa wfufa gro san
T SheH] w1 Jooild d SITEIT Y | 4
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17. Read the following text carefully and answer the given questions on the

basis of the same and common understanding.

On 30th September 2022, the Reserve Bank of India (RBI) raised
Repo Rate for the fourth time in a row. The Monetary Policy Committee
(MPC) decided to raise the policy rate by 50 basis points

1
(1 basis point = ﬁth of a percent) . After this announcement, the new

repo rate stands at 5.9%, while the reverse repo rate continues to stand at
3.35%.

Commercial banks borrow money from the Central Bank, when there
is a shortage of funds. With the surge in the repo rate, borrowings by
general public will become costlier. This is because, as RBI hikes its repo
rate, it becomes costly for the banks to borrow short term funds from the
Central Bank.

As a result, the banks hike the rates at which customers borrow
money from them to compensate for the hike in the repo rate. This
happens because banks offer loans to retail consumers at an interest rate

which is generally, directly proportional to the repo rate.

The increase of 0.50 percent in repo rate will lead to a higher interest
rates on loans for borrowers, implying that the Equated Monthly
Instalments (EMIs) for repaying the existing loans will also increase.

Source: https://www.businessstandard.com/article/economicpolicy/rbi-monetary-
policy-repo-rate-up-by-50bps-here-s-how-it-will-impact-you-122093000267 (Edited)

(a) State the meaning of repo rate and reverse repo rate. 2

(b) In order to bring down the rate of inflation, outline and discuss the
step taken by the Monetary Policy Committee of Reserve Bank of
India. 4

58/2/2 @ %E&I P.T.O.
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@ P fomom
JAUAT
B) ____ UH Hgaq fqerg fo yomelt % w9 H 3vw g 3R swy ufgen
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Section - B

(Indian Economic Development)

18. Which of the following was NOT the benefit accruing from ‘Golden

Revolution’ ? (Choose the correct alternative) 1

()
(b)
©
(d)

Increase in the income of the farmers.
Increase in production of milk and related products.
Increase in production and exports of fruits and vegetables.

Employment for women in rural areas.

19. Which of the following is NOT true about foreign trade during the colonial

rule ? (Choose the correct alternative) 1

()
(b)
©

(d)

20. (A)
®B)
58/2/2

India suffered from large trade deficit.

Restrictive policies of commodity production, were followed.

Britain maintained a monopoly control over India’s exports and
imports.

India became an exporter of primary products and an importer of

finished consumer goods.

is a process, which includes all the activities from sowing till
sale of the final produce in the market.
(Fill up the blank with correct alternative) 1
(a) Rural Development (b) Agricultural Diversification
(¢) Organic Farming (d) Agricultural Marketing
OR
have emerged as an important micro finance system and led
to women empowerment. (Fill up the blank with correct alternative) 1
(a) NABARD (b) Self-Help Groups
(¢) Commercial Banks (d) Land Development Banks

{11 > %E% P.T.O.
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21. (A) frafafad set o U6 — e (A) SR (R) | T feu mu foepeai & 8 wh
@Wﬂ% 1
afirRem (A) : AHa USft 1 SR Tk € BT 2, greilieh gHeh! Hansti
1 o~ Tershd Bre 2 |

ROT (R) : HFa Ift 37 Brefl @ |

ferepea

(a) IAMTHYA (A) 3R SR (R) GHT T & 3R HROT (R), 311HUT (A) i Tal
T2 |

(b) R (A) 3R HROT (R) SHI Hcd & IR HRUT (R), IA0HUT (A) i Tl
ST TE 7 |

(c) 3INHYT (A) T B, AT HRT (R) 3T R |

(d) 3INHYF (A) TEA B, feh RO (R) T 3 |

Aoran
B) iferes ISht <1 oIy haet fsit Teenat @ fierdn 7; et ame 4ot fref & wmer-
1Y o1 oft TeH Lt 2 | (T fapea g, fh A AT g apl) 1
(a) ECEH (b) G
() TS (d) wif®
22. frmferfga et w1 eamyes 31 i 1

A 1 : =17 7 w3 T foreft qama o6, wfema 3Tiiies germ <Y yreama <t off |

HUA 2 : fagHl 1 e ? fo6, wita § aneiss garri 61 ufskan 3 @eft snfiiss wehaent =1
e e fe g |

few U el & JTets o, Frefeiaa O @ @& fosew o1 =em Hifsu

(a) FUT1TIEINHYT2 IS |

(b) FUT1IFILINFATI2TIE |

() HIT1IN2GHA AT E |

(d) o132 gH TAE |
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21. (A) Read the following statements — Assertion(A) and Reason (R).
Choose one of the correct alternatives given below :
Assertion (A) : Human capital is not traded in the market; however
its services are traded.
Reason (R) : Human capital is intangible in nature.
Alternatives :
(a) Both Assertion (A) and Reason (R) are true and Reason (R) is
the correct explanation of Assertion (A).
(b) Both Assertion (A) and Reason (R) are true and Reason (R) is
not the correct explanation of Assertion (A).
(¢) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.
OR
(B) Benefits of physical capital accrue only to private entities, whereas
human capital provides private as well as __ benefits.
(Fill up the blank with correct alternative)
(a) profitable (b) social

(c) fiscal (d) monetary

22. Read the following statements carefully :

Statement 1 : China introduced structural economic reforms on its own,
without any pressure.

Statement 2 : Scholars argue that in India, the economic reforms process
led to the worsening of all the economic indicators.

In the light of the given statements, choose the correct alternatives from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.
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23. U rferaet H S GEIEE] % Trshwur bl o THIEE] % YA hl g ¥ HH Bl 8,

e TETfeid BT 2 | (Tl fashed g, s A AT gfd opl) 1
(a) AU &S AT (b) AU STINTOT &FHAT H I
(c) 3T & &THaT | 3T (d) 3T Hicd T T 3TH

24. hiem™ — I 1 feu 70 Temeti & 8¢ 9 wiem - 11 4 feu v defed avi § 9 sreea I 1

EPCETE 1
™ - 1 whiew — 11
A. | TG ¥ {&Td Y IEITA () 1850
B. | TISCO =1 fm (ii) 1807
C. | W T TUH FTERTNG, SHITOMT (iii) 1881
D. | TS T8 1 Gl (iv) 1869
ferepea
(@) A-(@) (b) B - (i)
(0 C-(ii) (d D-@Gv)
25. famferfga et w1 eamyes 31 i 1

HUA 1 : TR, ITThEa™ o =4 4 &, =i oo 981 9 SHaEd1 e a1 TP 2 |

HAF 2 : FH T 1970 % G o 37d H TR 1 T3 Tohol ST A11d 8 &1 Ihg
ST hHl 3RA o |

few TTu e o 3T H, frefafaa o 9 g fashed &1 = HifT

(a) AT 1 HA S INHYT 2 AR |

(b) FUT1IHILINFAT2TAR |

(c) HUH13MM2THATAE |

(d) HUT1 AR 2 GHI AT F |
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23. In an economy, when the rate of resource extraction is lower than the rate
of regeneration of the resource, the environment may operate 1

(Fill up the blank with correct alternative)

(a) within its carrying capacity. (b) beyond its absorptive capacity.

(¢) beyond its carrying capacity. (d) Dbeyond its aesthetic capacity.

24. From the set of the events given in Column — I and the corresponding year

in Column —1II, choose the incorrect pair : 1
Column -1 Column - II
A. | Introduction of railways in India | (1) 1850
B. | Incorporation of TISCO (i) 1807
C. | First Official Census of India (111) 1881
D. | Opening of Suez Canal @1v) 1869
Alternatives :
@ A-0 (b) B-@)
(¢ C-(ii) (d D-(@v)
25. Read the following statements carefully : 1

Statement 1 : Amongst India, China and Pakistan, China is the largest
nation and has the highest population density.

Statement 2 : One-child policy introduced in the late 1970s in China led
to a considerable decline in the population growth rate.

In the light of the given statements, choose the correct alternative from

the following :

(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

58/2/2 @ %E&I P.T.O.



@ collegebatch.con

26. Tmfafeq stiwel o UR W Tha 9 301G (GDP %) i afish gfg o o Ted &

@wﬁqﬁrﬂaﬁ: (T g I ) 1
Tehel TNe] 3cdTE <hl ek g a7 (%). 1980 — 2017
3 1980 - 90 | 2015 - 2017
I 5.7 7.3
Eitl 10.3 6.8
ITfeReT 6.3 5.3

Source : Key Indicators for Asia and Pacific 2016. Asian Development Bank.
Philippines : World Development Indicators 2018.

e

(@)
(b)
(©
(d)

27. (A

B)

58/2/2

1980 o ¥1h H =7 SIS T&TS 379kl H gfg T SH1T T+ H 9& o7 |

1980 — 2017 3 HEY TTTRE™ WA & TR T |

2015-17 % SR YRA = Thd =X 3c9¢ (GDP) H e gfg o1 739a fomam o |
2015-17 % GRH = & qTfehea™ g1 = fg & H frrere &1 aTgwa foram o |

HTF1958 H < I®aAIa <hl, o1 3evd a9 9T W < ST SR
HET AT | (Tl faspeg g, fp A i gfd opl) 1
(a) TEM HeEW HiEplaeh Hifd  (b)  fordrw amRfeR &t <hi v
(c) 3Tfefeh G <hl I&aTTd (d) e i BrRaE SATEH

Jera
TR o Tiifaes ol o 3 wesditaes Wil Y €91 % T 3U™
&Y H hE HLATR | (Tl fashed g, s A AT gfd opl) 1
(a) S ferchrer erhieh (b) TG Hehcioh
(c) 3TiRieh ferehrer () el e

<G =
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26. On the basis of the data given below, identify the incorrect statement in
terms of annual growth of GDP (%) : (Choose the correct alternative) 1
Annual Growth of Gross Domestic Product (%). 1980 — 2017

Country 1980 -90 | 2015-2017
India 5.7 7.3
China 10.3 6.8
Pakistan 6.3 5.3

Source : Key Indicators for Asia and Pacific 2016. Asian Development Bank.
Philippines : World Development Indicators 2018.

Alternatives :

(a) China was able to maintain near double-digit growth during the
1980s.

(b) Pakistan was ahead of India during 1980 — 2017.

(¢) India experienced a rapid rise in Gross Domestic Product during
2015-17.

(d) Both China and Pakistan experienced a decline in growth rate
during 2015-17.

27. (A) China initiated __ in 1958, that aimed at industrializing the
country on a massive scale. (Fill up the blank with correct alternative) 1
(a) The Great Proletarian Cultural Revolution
(b) Setting up of Special Economic Zones
(¢) Introduction of Economic Reforms
(d) The Great Leap Forward Campaign
OR
(B) ___ acts as a measure of ‘the extent of democratic participation in
social and political decision-making.’
(Fill up the blank with correct alternative) 1
(a) Human Development Index (b) Liberty Indicator
(¢) Economic Growth (d) Poverty Index
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28. “EHR WE % WfasT 1 &1 o foT0 H1e Ieersiq | e smawashs & |7 3

R

ITd HYH IR 3 & 317etis o 39 At foar @ fues & fou Tt @ wrifeat
== |

29. (a) ‘B & H, WRA GhR  HiY fafaefiertor o qream & FHwehi i 3 sgr hY feom

3 HeH 33T E |7 3
IURIRT B o ATCTIh § Hiy 1 ferferefietor o fepef <1 ol oY = i |
Jreran
(b) “WRa T fen o TR % &5 H Th N 1 Ay gEdaT HTa9ah @ |7
T 319 feU T 6= & Teud § ? 3794 IR o THH U RO S | 3

30. “9Rd H Hf¥ 39gH (Subsidy) T faftr= 7=l w sgq a1t w8 17
Y 3G T TR T & T&1 | foheel < deht o == i | 4

31. (a) “@™ W UWEIUT (On the Job Training) W foha T = 3refeecen § oM dsit
formfor <1 e Hecaul |rEH E 17
few T em <t o= RO gRT gy W | 4
e
(b) “arolia fepra 1 TreaTyd s % foru Sfees St o 6t @i B, Wy sEeht o
%o Wl E 17
ORI U o IATeATeh B Sfaeh Wl o fehegl g1 oIl o w137 sl T8 L | 4
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28. “In order to protect the future of our planet, it is important to tackle
carbon emissions.” 3

&

R 2

In the light of the above statement and image discuss any two strategies
to tackle this global concern.

29. (a) “Recently the Government of India has taken numerous steps
towards increasing the farmer’s income through agricultural
diversification.” 3
In light of the above statement, explain any two advantages of
diversification in agriculture.

OR
(b) “Active Government intervention is essential in education and health
sectors in India.”
Do you agree with the given statement ? Give reasons in support of
your answer. 3

30. “The debate over farm subsidies in India is enraged at different
platforms.”
Discuss any two arguments in favour of continuing farm subsidies. 4

31. (a) “Expenditure on On-the-job training is an important means of
human capital formation in an economy.”

Give valid reasons to justify the given statement. 4
OR
(b) “Organic Farming is the need of the hour to promote sustainable
development but, has its own limitations.” 4

Elaborate any two advantages and limitations each of organic
farming in the light of the above statement.
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32. feuw Ty rfergl & R T ;

Some Selected Indicators of Human Development, 2017-2019

Item India China Pakistan
Human Development Index (Value) 0.645 0.761 0.557
Rank (based on HDI) 130 87 154
Life Expectancy at Birth (years) 69.7 76.9 67.3
Mean years of Schooling (% aged 15 and above) 6.5 8.1 5.2
Gross National Income per capita (PPP US$) 6,681 16,057 5,005
Percentage of People living Below Poverty Line (National) 21.9* 1.7%* 24 .3*
Infant Mortality Rate (per 1000 live births) 29.9 7.4 57.2
Maternal Mortality Rate (per 1 lakh births) 133 29 140
Population using at least basic Sanitation (%) 60 75 60
Population using at least basic drinking 93 96 91
Water Source (%)

Percentage of Undernourished Children 37.9 8.1 37.6

Note: * for the year 2011; for the years 2015.
Sources: Human Development Report 2019 and 2020.

() Uh-Tsh AT Hehdeh o TETELY Hehdeh ohl UgTH ot | 2
(i) 9FT (i) 9 IgeH T fohet Uk Hohdeh o SR TR R o T T Gl e | 2
33. (a) (i) HfHeh-SHEE STATd Sl URTT € | Seh! ITfirar Y faa=mr &t | 3

(i) ‘3o fren oft % 3w ofiuH w31 wiiEnies seEE @ 93 T,
T IThT HIHTA SeATehaT A 2 | 3

offeT =K1Y o Ui b ferd R feoquft ol & 3799 SR < wmeH § A= HRuT S |

Jreran
Gb) (@) e A IRAR P Td H HE B! 8, 3T A1l e o A1 &l IS 6 &4 1
YA fhan Srar g |

FIT 3 Ak % F9 | Fifieha fomam ST Tkt § 7 310 I 6 THA | Ay

HRUC | 3

(i) “1990 % Th & 37d § YA 7 Hehel Te] 391G (GDP) i ghg T TSR
Yo o HEY Teh SATIh 37T ITTHS feham o7 | foram=m ot | 3
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32. On the basis of the given data :
Some Selected Indicators of Human Development, 2017-2019

Item India China Pakistan
Human Development Index (Value) 0.645 0.761 0.557
Rank (based on HDI) 130 87 154
Life Expectancy at Birth (years) 69.7 76.9 67.3
Mean years of Schooling (% aged 15 and above) 6.5 8.1 5.2
Gross National Income per capita (PPP US$) 6,681 16,057 5,005
Percentage of People living Below Poverty Line (National) 21.9* 1.7%* 24 .3*
Infant Mortality Rate (per 1000 live births) 29.9 7.4 57.2
Maternal Mortality Rate (per 1 lakh births) 133 29 140
Population using at least basic Sanitation (%) 60 75 60
Population using at least basic drinking 93 96 91
Water Source (%)

Percentage of Undernourished Children 37.9 8.1 37.6

Note: * for the year 2011; for the years 2015.
Sources: Human Development Report 2019 and 2020.

(1) Identify one income indicator and one health indicator, each. 2
(i1) Compare India and China on the basis of any one of the indicator

identified above in part (i). 2

33. (a) (@) Define Worker Population Ratio. Discuss its usefulness. 3
(1) ‘Mr. Rishi, after completing his education, has joined his family
business but his marginal productivity is zero.’
Comment upon the employment status of Mr. Rishi. Give valid
reasons in support of your answer. 3
OR
(b) (1) ‘Kavya works on her family farm and is neither paid in cash nor
in the form of grains.’
Can she be categorized as a worker ? Give valid reasons in
support of your answer. 3
(11) “In the late 1990’s India experienced a widening gap between

the growth of GDP and employment generation”. Discuss. 3
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34. frafafed T &1 eamyEs e S aun U U gl w1 3T 36 9 I 9E %
IR WE |
1991 & “371eieh GERI” & AT IRY fohT 7T Tfceh il 9 SXaHTceh FHTIS ST
3 T < 3TfefeR fifedli § wes Ufeiees &1 o fafaa foram o | Sdaan o oA axrent @
g <1 fereprar Wit 3 amfefes frart amafSres =mr 3 aHar o 919 IcdTed 9 TSR
e gig @ % ez & Facfra off |
1970 % uv=Td | Ig A9 foman mam R, smiffes nifafaferm w wg femi <t unfirar
TuT B gehl & a1 aredd | 3 ST faeh § ameres 59 &1 8 | 38 Jfd 3T H SR o
1980 o T3 o TR ¥ HS T IR IR hl IETA hl ot |
ETcTTeh, VRN Tefeae i 3fter & @ISl Tehe T TTHHT HEAT TS a1 TRUMHEEY :
() ot EHmdr o AfTEdar;
(i)  STRT ST <h Fe
(iii) TR ggTERifaRRl gaTe;
(iv) TS 3T T T,
(v) TSI e § frree 3nfe; & o IR steferewn 3 dehe & HR

T IEE TS o |
39 WA BU Tehe o fefsran § aeh i 3 3w wificaeh il o GCeTensh G sl & feparn
Sl
() TSN EmR § HH;
(i) 5T STt 3 gfig R e
(i) Tt e gursH yomett afe |
et fifd 1 qea seva wuy win % fawm o seforawen % et

ferehTa 92 o &Y AT AT |
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34. Read the following text carefully and answer the given questions on the

basis of the same and common understanding.

The stabilisation and structural adjustment measures, initiated under the
1991 “Economic Reforms” mark a watershed moment in India’s economic
policies. For almost three decades since independence, India’s development
strategy and economic policies were guided by the objectives of accelerating

the growth of output and employment with social justice and equity.

Ever since the 1970’s, it was realised that many of the regulations on
economic activities have outlived their usefulness and were in fact
hampering economic growth and development. In response to this, the
government initiated some milder liberalisation reforms for almost a

decade since the early 1980’s.

However, the Indian economy soon had to face the Gulf crisis and

consequently :

(1) The uncertainties about the oil prices;

(11) The external payment problems;

(ii1) The serious inflationary pressures;

(1v) The scarcities of essential commodities;

(v) The deterioration of fiscal discipline, etc.

These led to the Indian economy on the verge of Economic crisis.

In response to this emerging crisis, the Government initiated a set of

stabilisation and structural reforms like :

(1) Reduction in fiscal deficit;

(1) Containment of growth in money supply;
(i11) An exchange rate adjustment system etc.

The key objective of stabilisation policy was to bring the growth of

aggregate demand in line with long term growth path of the economy.
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JrefeIaET % ITYfd 9 H IR o T 1M & &9 § GlaTcHS GURINE 3T
foRd U S

()  3TENfTeh ATSHAT BT THIA

(i) AU =R 1 Rk e areft i sy %1 e

(ili) Torcha & =1 Tt

TH ST o Sreieh1leTeh fehTd 9 %! & quid: ¢t fea |
(eliepel el Fifere)

Source :

https://niti.gov.in/planningcommission.gov.in/docs/reports/genrep/arep9099/at94-

95.htm
(8) 1991 % STRie T o e e 5 Pt @ o it 3
(b) “1991 H 3I9Td FU ATk Hehe o T I H, THR F Tl 3T TLATCHS
IR IRy fpw o |7
W foregl i IuTT <l BT o ATt ot | 3
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In conjunction, the structural adjustment measures like;

(1) 1industrial delicensing

(i1) liberalisation of policy regime governing international trade
(i11) deregulation of financial sector

Were taken to improve the supply side of the economy. This shifted
the long-term growth path of the economy itself completely.

(Adapted and modified)

Source :

https://niti.gov.in/planningcommission.gov.in/docs/reports/genrep/arep9099/at94-
95.htm

Discuss any two reasons behind the introduction of Economic
Reforms in 1991. 3

“In response to the emerging crisis in 1991, the Government initiated

a set of stabilisation and structural reforms”.

Briefly discuss any three of such measures. 3
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